2024%

i3

2 H 0) B% Lﬁ}:l— i B Ba Wd RO _Bd B0 BA Bd B Bd B RO Bd RO B4 B RO Bd Ba Bd B Bd B0 RO RO B Bd B BO_Bd B i B
7K K & *
1
ARRAIASE
f—=24
2 4 3) 6 Ji 8
HE¥RE o — R—IL ol ROTTYE | EYEDITT
y—xob | EITAR [p—=op |7 28000 | 17D
9 10 11 12 13 14 15
=L —=2Y fﬂizﬁff ATYTE |F—bbb—=VF|BHAR v IL
16 17 18 19 20 21 22
BYZEDIM| =L | =v—rz—s— _ INDUR |l o
17E| I\l/_:./ﬁ‘ H—x vk Q Ren I\l/_:/ﬁ\ 9.//\)[/171:'
23 24 25 26 27 28
o — o RO | BYEDH
ESTAR |776==27) 2RowL | R7vT8

(B-K-K 20:00(H~, X 19:10~, & 19:40LE~, + 17:00L5~ )




llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

SHDBEHE LAA=01—
=| A

D% K R & +
aE |
% 2BDOVELD
2 3 4 5 6 7 8
thjz)/bb EST4RX |URXLF | T7AESR (VELOEMH 7 —LiL—=2Y
9 10 11 12 13 14 15
HhOo—EE| o=— N H—Fvk |[zo—rz——| I—V
hL—=vr | ETTAR \FeALz7al — 5| v TRk | g A=l
16 17 18 19 20 21 29
gYzDlt1- o p0 NN B s st ) &
XL Q-Ren |BEgARI YL B —Lh—=4 No——
23 24 25 26 27 28 29
T | _ . RJFIL | TFBEHYR
* WL [ == X
OSLORER f—=vy | A7V 7= -2y | 1AR)
30 31
F—L—=24

MAMLYF-H-K-K19:00~, k¥18:50~, £15:30~




